Tuaesday

Math Practice: Two- Step Word Problems (3. 0A8) &
Identfy Arvithmetc Patterns (3. 0A9)

Sohre .
1. 38-T=x2Z=

3. (I0-2ixg=k g=

(3. 0A B) Wiite am equevtion axsd find dve soluion

Jeffreybougld 5 bags of apples. Each bag held 5

apples. He gawe 11 of the apple s sarsy. Heoer mmsooy

apple s didhe keep for hnrse 7

Eraation:

Ansawer:

DIike has 9@ bocoks. His sister has 2 tome s as mary
books as Iwlike . How many books do they hoase
altogether?

Eruaation:

Anser:

2 bx |+ A=
4. I0x3+g=40 q-=
Susan bought 24 ampcakes. Fhe realized she daxd

1ot Iwve enongh so she made 2 batches of &
ompcakes each. Howw maty cupcakes did she haeee 7

Emquaticat:

Ayiseer:

Eirama bouglht 7 boxes of apples. Eachbesx
cortamed 11 applks. e thentook ot 29 applk s
and gawe the rest to ey meom. How maigy applk s
il she giwe to her mon?

Emquatica:

Brisiaer:

(3. 0A ) Ideuify Aviflonetic Fabtberns . VWlest is tle snissing noenker 7
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